HwAE e = (586 &M%

KRTHE#HE E K #§ #H &

S MT7TE4H 18

2 Kk 4 KRR

KEHE KA LHO HEHE @
Fonl

BRESTEEFRKS A0 HER
" @)

A6 FEBBHEB RN REE

KATBEEBROZETIRFIBSRB1IHOREICLY . FTESFED
BBEBHRICHEDIPARVCIHIZONWTRO LBV BRELET,

1 ) A
BEsTEBIE

450, 000 [

RENT R

62,391 M

WHER

IRER

N 3

EER AR TR

RHER

RBHERE

BBl E|B| B| H

FEHEA R

53,844 M

INCS:

M

10

FHITE

27,307 M

A
=

ol
-

143,542 [

3 B’ #® 306, 4

58 M




4 K HAER

EEEEIE . L i
EHEA B FEMEEDOHE REBORX S &% (M) — % ﬁg el
TAI0R . 110 |BHEB e CHE R TTBREIR R 3 8, 040
THRETER 700
1 WEFEER 62, 391 (TR ELHER 3,651
2 WER M— 1
S = ==
4 m%% - __ Ie—— =
5 EFREEHH e = —
6 2mE —
7 RERHERE _— ==
3H6H WEHZ AR FOMA LARAFREE B
NEENEL N 53, 844
8 WEHEAE 53, 844 ——re———
N Seb | In—
TTHI9H RN E S T oS =Y = ABAEERE L5 6, 985
12H3H ‘—-iﬁ_?%ﬁ%&i}%]&m Fr—Z—FU vy URAESE| 13,337
4818 PR RN 10 EEFE 97,307 Y s — Y — ARG (R6 F 4 6, 985




BFEEHENAZHEAE (FH6FE)

=3t

= AR ] = XA X =51E8
4 25 |[EFEENE (LR 225,000 225,000

1 71 10 [fTEARERE (18 5 R AR A0 L BSET) 58,040 166,960
2 7i 10 [fTRRBESLTE 700 166,260
3 7i 16 [fTRRRERESR 3,651 162,609
10: 21 [[BBERE (TR 225,000 387,609

4 11§ 19 [FUra—y—RBEES (SMeEE LR 6,985 380,624
5 12 3 |[FF—h—RIvTHEEE 13,337 367,287
6 3 6 LA SAFERESH (BT, BEEM) 53,844 313,443
7 4 1[FUrs—U—2ABRIEE (STCEETHH) 6,985 306,458

UTRB
at 450,000 143,542 306,458




